IMMERSCHLAU

Ubungen Mathematik Klasse 5 N
Multiplikation 3 o4 Z

5 5,4 3 e 1,3 5 5 4,1 e 6 5
2,5 7 3 e 2 1 2.1 1 3 e+ 8,6
7 1 4,1 e 0,2 1,5 4 1 e 2 9




IMMERSCHLAU
Ubungen Mathematik Klasse 5

Multiplikation 3 Losungen T
5 5,4 3 ¢ 1,3 5 5 4,1 e 6
3 2
5 5 4 3 3 3 2 4 6
1 1 2 2
1. 6 6 2 9 2 7 7 0
1 1 1 1
7 2,0 5 9 3 6.0 1 6,
2,5 7 3 e 2 1 2.1 1 3 = 38,
1 1 0 1 2
5 1 4 6 1.6 9 0 4
1
2 5 7 3 1. 2 6 7
1 1 1 1
5 4, 0 3 3 1 8,1 7 1
7 1 4,1 e 0,2 1,5 4 1 e 2
1 1
O 0 0 0 O 3 0 8 2
4 3
1 4 2 8 2 1 3 8 6
1
1 4 2,8 2 4 4,6 8
0, 4 2 3 e 2 2 2 1 3,1 e 4,
1
0 8 4 6 8 5 2 4
1
0 8 4 6 8 5 2




